
Combine the like terms: Add/Subtract like Terms

𝑥 + 𝑥 = 2𝑥 𝑥 + 2𝑥 = 3𝑥 6𝑥 − 4𝑥 =  2𝑥 𝑥 − 𝑥 = 02𝑥 + 4𝑥 = 6𝑥 2𝑥 − 5𝑥 = −3𝑥

3𝑥 + 3𝑥 = 4 + 8
           6𝑥 = 12

           
6𝑥

6
⎯⎯⎯=

12

6
⎯⎯⎯

             𝑥 = 2

2𝑥 = 4 + 𝑥

−𝑥        − 𝑥
 𝑥 = 4

𝑥 = 1 + 2
𝑥 = 3

𝑥 + 𝑥 = 4
      2𝑥 = 4

      
2𝑥

2
⎯⎯⎯=

4

2
⎯⎯

        𝑥 = 2

  2𝑥 = 4 + 𝑥

3𝑥 + 2 = 2𝑥 + 6

3𝑥 + 2 = 2𝑥 + 6
        −2            − 2
       3𝑥 = 2𝑥 + 4
      −2𝑥   − 2𝑥

          𝑥 = 4

Subtract x from both sides

Subtract 2x from both sides 

Subtract 2 from both sides 

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙, 𝒃𝒚 𝒄𝒐𝒎𝒃𝒊𝒏𝒊𝒏𝒈 𝒍𝒊𝒌𝒆 𝒕𝒆𝒓𝒎𝒔 𝒃𝒚 𝒂𝒅𝒅𝒊𝒏𝒈 𝒂𝒏𝒅 𝒔𝒖𝒃𝒕𝒓𝒂𝒄𝒕𝒊𝒏𝒈 𝒕𝒐 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙, 𝒃𝒚 𝒄𝒐𝒎𝒃𝒊𝒏𝒊𝒏𝒈 𝒍𝒊𝒌𝒆 𝒕𝒆𝒓𝒎𝒔

          2𝑥 = 4 + 𝑥
        −4    − 4
   2𝑥 − 4 = 𝑥
−2𝑥          − 2𝑥
          −4 = −𝑥

          
−4

−1
⎯⎯⎯=

−𝑥

−1
⎯⎯⎯

              𝑥 = 4

Combine
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Solve for 𝒙

𝑥 + 𝑥 = 4
2 + 2 = 4
        4 = 4

        3𝑥 + 3𝑥 = 4 + 8
3(2) + 3(2) = 4 + 8
             6 + 6 = 12
                  12 = 12

Check Answer Check Answer

Work on the 
complicated side!

Not Optimal!!!

Check Answer
Short Form

  2𝑥 = 4 + 𝑥
     𝑥 = 4    2𝑥 = 4 + 𝑥

2(4) = 4 + (4)
      8 = 8

3𝑥 + 2 = 2𝑥 + 6
          𝑥 = 4

    3𝑥 + 2 = 2𝑥 + 6
3(4) + 2 = 2(4) + 6
    12 + 2 = 8 + 6
            14 = 14

Short Form

Check Answer

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙, 𝒃𝒚 𝒄𝒐𝒎𝒃𝒊𝒏𝒊𝒏𝒈 𝒍𝒊𝒌𝒆 𝒕𝒆𝒓𝒎𝒔

3𝑥 − 1 + 4𝑥 = 𝑥 + 11

3𝑥 + 4𝑥 − 1 = 𝑥 + 11
           7𝑥 − 1 = 𝑥 + 11
                +1          + 1
                   7𝑥 = 𝑥 + 12
                 −𝑥      − 𝑥
                   6𝑥 = 12

                   
6𝑥

6
⎯⎯⎯=

12

6
⎯⎯⎯

                      𝑥 = 2

Rearrange Order of Terms (Signs!!!)
Combine Like Terms

Algebra
       3𝑥 − 1 + 4𝑥 = 𝑥 + 11
3(2) − 1 + 4(2) = (2) + 11
            6 − 1 + 8 = 2 + 11
                          13 = 13

3𝑥 − 1 + 4𝑥 = 𝑥 + 11
                   6𝑥 = 12
                     𝑥 = 2

Check Answer

Short Form
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